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QUESTION 1

You are setting up a new StorageGRID environment. 

In this scenario, which two nodes would you deploy? (Choose two.) 

A. storage node 

B. admin node 

C. management node 

D. cluster node 

Correct Answer: BD 

 

QUESTION 2

You are using NetApp Cloud Volumes ONTAP for AWS. You need to have data protection for your cloud data. 

What NetApp service would you use to satisfy your requirements? 

A. Cloud Sync 

B. Cloud Volumes Service for AV\ 

C. Cloud Backup 

D. SaaS Backup 

Correct Answer: B 

Reference: https://www.netapp.com/cloud-services/cloud-volumes-ontap/aws/ 

 

QUESTION 3

What are two main benefits when configuring Advanced Disk Partitioning (ADP) on an AFF or FAS system? (Choose
two.) 

A. Increases deduplication efficiencies. 

B. Reduces the RAID parity overhead. 

C. Decreases disk failure rate. 

D. Optimises storage capacity. 

Correct Answer: CD 
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QUESTION 4

Which two data protection features are built into NetApp Element software? (Choose two.) 

A. volume snapshots 

B. RAID DP 

C. real-time replication between clusters 

D. SnapLock software 

Correct Answer: AC 

Reference: https://docs.netapp.com/us-en/element-
software/pdfs/pages/concepts/concept_solidfire_concepts_data_protection.pdf (p.2) 

 

QUESTION 5

Which attribute of a host is used to route packs to a non-local subnet? 

A. VLAN trunk 

B. default gateway 

C. NTP server 

D. DNS server 

Correct Answer: D 

 

QUESTION 6

You want your developers to be able to request storage on private and public cloud locations using a single API
endpoint. In this scenario, which NetApp service provides this capability? 

A. Cloud Manager 

B. Cloud Sync 

C. Cloud Volumes ONTAP 

D. Cloud Volumes Services 

Correct Answer: A 

 

QUESTION 7

Which two enable you to tier data that is stored in an ONTAP system to an object store? (Choose two.) 

A. Cloud Tiering 
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B. FabricPool 

C. Cloud Sync 

D. FlexGroup 

Correct Answer: AB 

Reference: 

https://thinksystem.lenovofiles.com/storage/help/topic/managing_storage_tiers_by_using_f
abricpool/M_EB611646-616F-4943-9A83-C6CBD5FFB684_.pdf 

 

QUESTION 8

Your customer is moving some of their data to the public cloud, but is concerned about the complexity of migrating and
managing their data. They ask you about building a data fabric to make this process easier. 

What are three reasons for using NetApp technologies In this scenario? (Choose three.) 

A. NetApp enables customers to provision, monitor and manage their cloud and on- premises storage through a single
UI. 

B. NetApp enables customers to back up data to private or public clouds. 

C. NetApp enables customers to reduce the cost of migration by avoiding egress costs. 

D. NetApp enables customers to offload the provisioning of storage In public and private clouds. 

E. NetApp enables secure replication between on-premlses storage systems and the public cloud. 

Correct Answer: ABC 

 

QUESTION 9

Which two statements are true regarding an ONTAP Select deployment? (Choose two.) 

A. Multiple nodes from a single ONTAP Select cluster should not run on the same hypervisor host. 

B. You can add an ONTAP Select node directly to a NetApp engineered hardware ONTAP cluster. 

C. The hypervisor host is running either VMware ESXi or Red Hat KVM. 

D. Each hypervisor host within an ONTAP Select cluster can run a different version or release of the hypervisor
software. 

Correct Answer: AC 

 

QUESTION 10

What are two advantages of using containers? (Choose two.) 
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A. Containers can be easily deployed using an ovf format 

B. Containers reduce networking complexity 

C. Containers include all necessary executables. binary code, libraries, and configuration files 

D. Containers are easily deployable 

Correct Answer: CD 

Reference: https://www.netapp.com/devops-solutions/what-are-containers/ 

 

QUESTION 11

Which storage type provides access using Amazon S3 APIs? 

A. object 

B. NAS 

C. inode 

D. SAN 

Correct Answer: A 

Reference: https://cloud.netapp.com/blog/storage-tiering-ontap-cloud-and-amazon-s3
https://docs.aws.amazon.com/AmazonS3/latest/userguide/storage-class-intro.html 

 

QUESTION 12

Which two NetApp features encrypt the storage data? (Choose two.) 

A. NetApp Volume Encryption (NVE) 

B. NetApp Storage Encryption (NSE) 

C. Trusted Platform Module (TPM) 

D. Encrypted File System (EFS) 

Correct Answer: AB 

https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
concepts%2FGUID-394BC638-DADB-4CA4-8C8E-D7F942F30458.html 

 

QUESTION 13

Your employer asks you to develop an off-site data replication strategy that maintains NetApp ONTAP data efficiencies
for the home directory data. Which solution would satisfy this requirement? 
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A. Cloud Volumes Service 

B. Azure NetApp Files 

C. Global File Cache 

D. Cloud Volumes ONTAP 

Correct Answer: A 

 

QUESTION 14

Which NetApp administration tool is used to manage E-Series and EF-Series storage arrays? 

A. SANtricity System Manager 

B. Active 1Q Unified Manager 

C. Cloud Insights 

D. ONTAP System Manager 

Correct Answer: A 

https://www.netapp.com/data-management/santricity/#:~:text=NetApp%20SANtricity%20software%20lets%20you,EF%2
DSeries%20Flash%20Storage%20Arrays. 

 

QUESTION 15

You want to maintain a longer retention time of your Snapshot copies on a NetApp ONTAP system in a remote data
center versus the NetApp ONTAP system in your primary data center. Which NetApp ONTAP feature enables you to
accomplish this task? 

A. FlexGroup volume 

B. SnapCenter 

C. SnapVault 

D. SnapLock 

Correct Answer: B 
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